

Request for Quotation

BFQ:NUMBER: CEREAL08

ADDRESS:CORRESPONDENCE:TO:ATTENTION:OF:

JO ANN ADKINS 304-558-8802

3

RFQ COPY TYPE NAME/ADDRESS HERE

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER

Po. Boy 661 Backharor WV 26201

DATE PRINT	ED TER	MS OF SALE	SHIP VIA	FO.B.	FREIGHTTERMS
BID OPENING DATE:	1	/2008	BID	OPENING TIME	01:30PM
LINE	QUANTITY	UOP CAT.	ITEMINUMBER	UNIT PRICE	AMOUNT
	YEAR OR UNT NECESSARY TO ORIGINAL CON NOT EXCEED 'TIME" THE V	AND EXT IL SUCH "RI D OBTAIN A NTRACT. T TWELVE (12 ENDOR MAY ' GIVING TH	ENDS FOR A PERIOD EASONABLE TIME" ' NEW CONTRACT OR HE "REASONABLE TO MONTHS. DURING TERMINATE THIS CORE DIRECTOR OF PURE THE CORE OF	THEREAFTER AS IS RENEW THE IME" PERIOD SHAL THIS "REASONAB ONTRACT FOR ANY	C C
	IN THIS CON	TRACT DOCU	SIONS ARE STIPULA MENT, THE TERMS, E FIRM FOR THE L	CONDITIONS AND	
	WRITTEN CON SUBMITTED T DAYS PRIOR BE IN ACCOR	SENT OF TH THE DIRE TO THE EXP DANCE WITH NTRACT AND	T MAY BE RENEWED E SPENDING UNIT A CTOR OF PURCHASIA IRATION DATE. SI THE TERMS AND CO SHALL BE LIMITE	AND VENDOR, NG THIRTY (30) JCH RENEWAL SHAL DNDITIONS OF THE	ь
	RIGHT TO CA NOTICE TO T SUPPLIED AR	NCEL THIS HE VENDOR E OF AN IN	ECTOR OF PURCHAS CONTRACT IMMEDIA IF THE COMMODITI FERIOR QUALITY OF OF THE BID AND	TELY UPON WRITTE ES AND/OR SERVIC R DO NOT CONFORM	N ES
	AUTHORIZE A MARKET, WIT ESTIMATE, I IMMEDIATE D CAUSES (INC	SPENDING HOUT THE F TEMS SPECI ELIVERY IN LUDING BUT	HE DIRECTOR OF PUNIT TO PURCHASE LLING OF A REQUIFIED ON THIS CONEMERGENCIES DUE NOT LIMITED TO ICIPATED INCREAS	ON THE OPEN SITION OR COST TRACT FOR TO UNFORESEEN DELAYS IN TRANS-	·
		SEE PE	VERSE SIDE FOR TERMS AND CO		
SIGNATIONE	1/4/16	My	TELEPHONE 304	1-472- 5500 DATE	
Presio	en T		8- 3249		ES TO BE NOTED ABOVE
WH	EN RESPONDING	TO RFQ, INSEF	RT NAME AND ADDRESS	IN SPACE ABOVE LABE	FD VENDOR

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. All quotations are governed by the West Virginia Code and the Legislative Rules of the Purchasing Division.
- Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125.00 registration fee.
- 5. All services performed or goods delivered under State Purchase Orders/Contracts are to be continued for the term of the Purchase Order/Contract, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods, this Purchase Order/Contract becomes void and of no effect after June 30.
- 6. Payment may only be made after the delivery and acceptance of goods or services.
- 7. Interest may be paid for late payment in accordance with the West Virginia Code.
- 8. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 9. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 10. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 11. The laws of the State of West Virginia and the *Legislative Rules* of the Purchasing Division shall govern all rights and duties under the Contract, including without limitation the validity of this Purchase Order/Contract.
- **12.** Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- **13. BANKRUPTCY:** In the event the vendor/contractor files for bankruptcy protection, this Contract may be deemed null and void, and terminated without further order.
- 14. HIPAA Business Associate Addendum The West Viginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, and available online at the Purchasing Division's web site (http://www.state.wv.us/admin/purchase/vrc/hipaa.htm) is hereby made part of the agreement. Provided that, the Agency meets the definition of a Covered Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division.
- 2. SPECIFICATIONS: Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as EQUAL to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Complete all sections of the quotation form.
- 4. Unit prices shall prevail in cases of discrepancy.
- 5. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- **6. BID SUBMISSION:** All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications.

SIGNED BID TO:

Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130



AMZGOT

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

CEREAL08

PAGE 4

ADDRESS:CORRESPONDENCE TO ARTENTION OF

JO ANN ADKINS 304-558-8802

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

RFQ COPY TYPE NAME/ADDRESS HERE

> A. F. WENDLING, INC. P.O. Box 661 Buckharror Wr 26201

DATE PRINTED TERMS OF SALE SHIP VIA

01/23/	2008								
BID OPENING DATE:		02/13,	/2008			BID	OPENING	TIME	01:30PM
LINE	QUAI	NTITY	UOP	CAT NO	ITEM:NU	MBER	UNI	TPRICE	AMOUNT
	APPROTHE S'THAT ORDER WHETH ORDER WRITT THE VENDO MAILE	XIMATION TATE SING PROBLEM STATE ENDOR RIGINAL R AS AT DOTO	ONS ON PENDING ON PEND	ILY, IG UN IG UN ISHA	S LISTED BASED ON IT. IT I LL COVER DURING TH THAN THE PENDING U T ORDER (ITIES COV THE WV-39 ON FOR SH ING DIVIS	ESTIMATI S UNDERS THE QUAI E TERM (QUANTITI NIT (S) S FORM NUI ERED BY SHALL I IPMENT, ION, ANI	ES SUPPLETOOD AN ITITIES OF THE COMES SHOWN THIS COMES THIS COMES OF THIS COMES OF THE COMES OF	TIED BY ID AGREED ACTUALLY CONTRACT, IN. SUE A 39) TO ONTRACT. ID TO THE ID COPY	
	FOR B. CALLY ORDER THE T SHALL CONDI DOCUM AGREE	ANKRUP NULL ERMS AI SUPER: TIONS I ENTS SI MENTS (FCY PAND VOND CONSEDE AND CONSEDE AND CONSEDE AND JCH	OTEC DID, DITIONY A MAY A B PRI	VENT THE TION, THI AND IS TE ONS CONTA ND ALL SU APPEAR ON CE LISTS, ANCE AGRE I AS CD-R	S CONTRACTION OF THE PROPERTY	ACT IS A D WITHOU THIS CC T TERMS TACHED F FORMS, S	AUTOMATI- T FURTHE ONTRACT AND PRINTED SALES	
	EXHIB	IT 6					·		
	THE S	IN PRO	F WES	VIR NS FO ON O	GINIA WII R PRICE A F THE CON	DJUSTME ITRACT,	NTS PRIC PROVIDEI	OR TO THE	ic
SIGNATURE V	<i>A</i> -	<i>H</i> t	H	SEERE	VERSE SIDE FOR		472-53	DATE	2-/2-08
mes b	J=+	FI	EIN S	5-d3	38-324	_			ES TO BE NOTED ABOVE
WH	EN RESF	ONDING	TO RFQ	INSEF	T NAME AND	ADDRESS	IN SPACE A	ABOVE LABE	LED 'VENDOR'



Request for Quotation

REGINUMBER CEREALO8 ‱PAGE 5

.TO ANN ADKING

JO ANN ADKINS 304-558-8802

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

RFQ COPY
TYPE NAME/ADDRESS HERE

A.F. WENDLING, INC.

P.O. Boy 661

Backharron W

- 26201

DATE PRINT 01/23/	**********************	TER	MS OF SALI		SHIPVI	A	FC).B.		FREIGHTTE	RMS
BID OPENING DATE:		02/13,	/2008		<u> </u>	BID	OPENING	ŢŢME	<u> </u>	30PM	
LINE	QUAN	ПТҮ	UOP	CAT NO	ITEM:NUM	BEA	UNIT	PRICE		AMOUN	ıτ
	PRICE MOVEME BASED MATERI SUBSTA BASED ALL PE A MANN GOVERN PUBLIS SHOULD PURCHA DATE CO PRICE 4CCEPT	ADJUS' ENT OF ON THI LALS AL ANTIAL UPON RICE AL UER AC UMENTA EHED PL OBER EL ASING ASING THE ADJUS' THE	THE C "PAS ND/OR PART OJUSTM CEPTAS L BENC RICE CECEIVE AT LEA INCRE PRICE	COVEZ COMMON S THI LABON OF A CUAL SENT SENT SILE TO SILE TO S	RS BOTH UP DITY PRICE ROUGH" INC R, WHICH M PRODUCT. DOLLAR FIC REQUESTS M THE DIRE RKS, GENER WRITING B DAYS IN ANY TIME PURCHASIN THE ADUST	CREASE (IAKE UP ADJUS') FURE, NO IUST BE COTOR PURE, MARI COUESTS Y THE IADVANCE THE VIEW DIVISOR AMEND	THAT ADJUDE THAT ADJUDE TO THE THE CONTRIBUTION OF THE SHOOL THE CONTRIBUTION OF THE C	USTMEN ASE OF A RE TO CENTAG FIATED G, E.G EASE, INCRE OF EFFEC QUESTS EITHE IRACT	RAW BE IN ASE TIV A R		
	PREFERIT IS FIRM FOR CON (1) YE	THE (RED TI PREFEI FOR LII TRACT EAR.	CONTRA ERMS: RRED T FE OF CLAUS	CT. HAT THE COI	THE PRICES CONTRACT, VTAINED HE SUARANTEE	ON THE AS IND REIN, I	IS CONTRA ICATED II NOT TO EX	ACT AR N THE XCEED	E LIFE ONE		
	PARAGE PREFER	RAPHS : RRED TI IE LIFI	LISTED ERMS W E OF T	BELO	OW. FAILUBIND THE VOITRACT.	RE TO	QUALİFY :		E		
SIGNATURE		THE P		AFT:	HIS CONTRA ER THE EFF ÆRSESDEFORTE T	ECTIVE	DATE OF	THE		12-08	
TITLE Presid	1.7	· FE		038	-3249	2095				BE NOTED A	
		ONDING 7			T NAME AND A	DDRESS I					



RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston WW 25255 6462 Charleston, WV 25305-0130

6

ADDRESS:CORRESPONDENCE:TO:ATTENTION:OF JO ANN ADKINS

304-558-8802

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER

DATE PRINT 01/23		TER	MS OF SAI	ĽΕ	SHIP VIA		FOB.	FREIGHT TERMS
BID OPENING DATE:		02/13	/2008			BID	OPENING TIME	01:30РМ
LINE	QUI	ANTITY	UOP	CAT NO	ITEM NUMBE	a l	UNITPRICE	AMOUNT
				l l				
					WILL REMAI MINIMUM OF		AFTER EACH E	PRICE
	()	FOR TH	E LEN	GTH O	THE CONTR	LACT BU	TAIN A FIRM I T OFFERS AN	PRICE
		ALTERN	ATE P	ROPOS	AL AS FOLLO	ws:	••••••	
	NOTE:							
		DAYS; LONGE: THERE: PRICE PURCH	VENDO R. A' AFTER CHANG ASING	ORS SIT THRI WITI GES ()	HOULD STATE EE-MONTH (9 H A 30-DAY	IF THOO DAY) NOTICE ED) MA DOCUME	, PASS-THROUG Y BE REQUESTE	ALID
	CHANG	ES TO '	THREE	PER	L LIMIT THE YEAR - PRIC NOTICE.		R OF PRICE ECTIVE FOR	
	ELECT	RONIC	COPY	(DISK)	EQUIRED TO ETTE OR CD) RICE CHANGE	OF TH	E ENTIRE	
			VEN	DOR P	REFERENCE C	ERTIF	CATE	
	PREFE	ERENCE	IN AC	CORDA	NCE WITH WE	ST VIR	BY MADE FOR GINIA CODE, N CONTRACTS).	
	A. <i>P</i>	APPLICA'	rion				RENCE FOR THE	E
SIGNATURE V	-//-	7) 1	- 4	SEERE	VERSESIDE FOR TER	EPHONE		DATE
1111	1/1	1/ U	in (\supset	304-	472-5500	DATE 2-/2-08
Jues,			<i>5</i> 'S		-13249			ANGES TO BE NOTED ABOVE
WH	EN RESI	YONDING :	iO RFQ	I, INSER	I NAME AND AD	DURESS IN	N SPACE ABOVE LA	ABELED 'VENDOR'



Request for Quotation

CEREAL08

PAGE 7

JO ANN ADKINS
304-558-8802

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

RFQ COPY
TYPE NAME/ADDRESS HERE

P.O. Boy 661

Backharror WV
26201

01/23/	/2008	,	IVIO UF SAI	••••••	SHIP	* 15		<i>)</i> 15.	FHEIGH	LIERMS
BID OPENING DATE:	200000000000000000000000000000000000000	02/13	/2008			$_{ m BID}$	OPENING	TIME (1:30PM	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
LINE	QUA	VTITY	UOP	CAT. NO	ITEM NU	MBER	UNIT	PRICE	AM	OUNT
	REASO:	N CHEC	KED:							
	HAS R	ESIDED	CONT	INUOU.	DIVIDUAL SLY IN WE PRECEDIN	ST VIRG	INIA FOR	FOUR		
	TÍON QUART WEST THE D INTER PARTN WHO H OF BU YEARS	RESIDE: ERS OR VIRGIN ATE OF EST OF ERSHIP AS MAI SINESS	NT VEING PRING FOR THIS BIDD NASS NTAIN CONT	NDOR CIPAL R FOUL CERT ER IS CCIAT ED IT: INUOU Y PRE	INERSHIP, AND HAS M PLACE OF R (4) YEA IFICATION HELD BY ION OR CO HEADQUA SLY IN WE CEDING TH	AINTAIN BUSINE; RS IMME; ; OR 80° ANOTHER RPORATIO RTERS OF	ED ITS HIS CONTING CON	EAD- NUOUSLY 1 PRECEDING OWNERSH1 UAL, ENT VENDO PAL PLACE	N .	
	A MIN HAS M BUSIN FOUR	HAS AI O MUMI AINTAII ESS WI'	N AFF F ONE NED I' THIN N ARS II	ILIATI HUNDI IS HE VEST	PORATION E OR SUBS RED STATE AQUARTERS VIRGINIA ATELY PRE	IDIARY I RESIDEI OR PRII CONTINU	VHICH EMI VTS AND V VCIPAL PI DUSLY FOI	PLOYS WHICH LACE OF R THE		
		PPLICA'		is mai	DE FOR 2.	5% PREFI	ERENCE FO	OR THE		
	DURING 75% OF ARE RITHE S'	G THE I F THE I ESIDEN' FATE C	LIFE (EMPLO IS OF ONTIN	OF THE YEES V WEST JOUSL SION	IDENT VENE CONTRACT ORKING OF VIRGINIA FOR THE OF THIS B	T, ON AT N THE PI WHO HAY TWO YES	VERAGE A' ROJECT BI VE RESIDI ARS IMMEI	I LEAST EING BID ED IN		
SIGNATURE		-/4/	H	SEPTHE)	/ERSESIDE FOR T	TELEPHONE		DATE		P_
TITLE D	<u> </u>	/ J C	IN IN			364	-472-5		2-12-09	
Pres.	6ent			-038	-3249		ADD	RESS CHANGES	TO BE NOTE	ABOVE



Request for Quotation

REQNUMBER CEREALO8 PAGE 8

JO ANN ADKINS
304-558-8802

SH P TO

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

RFQ COPY
TYPE NAME/ADDRESS HERE
ALE, WENDLING, INC.
P. O. Boy 661
Backharron Wy
16201

01/23/2008					
BID OPENING DATE:	02/13/	2008	BII	O'OPENING TIME	01:30PM
LINE	QUANTITY	UOP CAT NO	ITEM NUMBER	UNITPRICE	AMOUNT
	MINIMUM OF ON NONRESIDENT WHICH MAINTA OF BUSINESS OF ONE HUNDR DURING THE LASS OF THE ESUBSIDIARY'S WHO HAVE RESYEARS IMMEDIATED TO COPREFERENCE, PURCHASING TORDER ISSUED BIDDER IN AN AND THAT SUCTON TO THAT SUCTON TO THE PURCHASING TORDER ISSUED BIDDER IN AN AND THAT SUCTON TO THAT SUCTON TO THE PURCHASING TORDER ISSUED BIDDER IN AN AND THAT SUCTON TO THAT SUCTON TO THE PURCHASING TORDER ISSUED BIDDER IN AN AND THAT SUCTON TO THAT SUCTON TO THE PURCHASING TORDER ISSUED BIDDER IN AN AND THAT SUCTON TO THE PURCHASING TORDER ISSUED BIDDER IN AN AND THAT SUCTON TO THE PURCHASING TO THAT SUCTON TO THE PURCHASING TORDER ISSUED BIDDER IN AN AND THAT SUCTON TO THE PURCHASING TO TO THE PU	NE HUNDRED VENDOR WIT INS ITS HIT WITHIN WES ED STATE I IFE OF THE MPLOYEES OF EMPLOYEES OF IDED IN THE ATELY PRES STANDS IF HAT A BIDI NTINUE TO THE SECRE O: (A) RI AMOUNT NO H PENALTY DUCTED FRO	RESIDENTS WHO CONTRACT, ON A CONTRACT, ON A CONTRACT, ON A CONTRACT ON A CONTRACT OF THE SECRETARY OF THE SECRETARY OF THE RECEIVING PROBLEM OF THE CONTRACT O	OR IS A OR SUBSIDIARY PRINCIPAL PLACE LOYING A MINIMUM ERTIFIES THAT, AVERAGE AT LEAST LLIATE'S OR OF WEST VIRGINI JOUSLY FOR THE TON OF THIS BID. OF TAX & REVENUE REFERENCE HAS REMENTS FOR SUCH THE DIRECTOR OF RACT OR PURCHASE Y AGAINST SUCH OF THE BID AMOUN THE CONTRACTIN	A WO
SIGNATUPE	DISCLOSE ANY PURCHASING D TAX AND REVE PURCHASING A BIDDER HAS P. THAT SUCH IN TAXES PAID N COMMISSIONER UNDER PENALT	REASONABIVISION AND TO BE COLUMN BIDDER	LY REQUESTED INITION OF AUTHORIZES TO THE DISCLOSE TO THE DESTRUCTION OF THE PROPERTY OF THE P	ERIFYING THAT TAXES, PROVIDE IN THE AMOUNTS O DEEMED BY THE T ING (WEST VIRGIN THAT THIS	D F PAX
	1/11/11/11		304	-472-5500	2-12-08
TITLE Pres.	Jan + FEIN	55-03	8-3249		GES TO BE NOTED ABOVE
				S IN SPACE ABOVE LAB	ELED 'VENDOR'



RFQ:NUMBER CEREAL08

9

ADDRESS:CORRESPONDENCE:TO:ATTENTION:OF JO ANN ADKINS 304-558-8802

RFQ COPY TYPE NAME/ADDRESS HERE

DATE PRINTED TERMS OF SALE

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER

01/23,					
BID OPENING DATE:	02/13	/2008	BTD	OPENING TIME	0T:305M
LINE	QUANTITY	UOP CAT	ITEM:NUMBER	UNITPRICE	AMOUNT
		NΟ			
			· I	·	
	CERTIFICATE	IS TRUE	AND ACCURATE IN A	LL RESPECTS; AND	
			S ISSUED TO BIDDE		G
•			S CERTIFICATE CHA		
			', BIDDER WILL NOT	FFY THE PURCHASI	n¢
	DIVISION IN	WRITING	IMMEDIATELY.		
,		.	1 1	11/1	
			DER: A.J. Wen	ding In	•
	·	BII	DER:		_
			•		
			2-12-08		
	•	DA'I	E:	+ <i></i>	
				$X = \mathcal{L}[I] \times I$	/ Y /
				1 / Wel	
		SIC	NED:	+	<i> </i>
					/
			I Presiden?	T .	/
		TIT	'L本: -1		
	* CHECK ANY	COMBENAT	ION OF PREFERENCE	CONSIDERATION (S	
			, OR BOTH "A" AND		
	ENTITLED TO			UP TO THE MAXIM	uly
•	5% PREFEREN	CE FOR BO	TH "A" AND "B".		
i.					
		l N	OTICE		
	·	}			
	A SIGNED BI	p Mustr Be	SUBMITTED TO:		•
}					
			DMINISTRATION		
•		eing þivi	ston	İ	
	BUILDII				
,			STREET, EAST		
	CHARLE:	STON, WV	25305-0130		
.					
1 _ /					
	Marie de la companya de la companya de la companya de la companya de la companya de la companya de la companya	/ sgt	RÉVERSE SIDÉ FOR TERMS AND CO		
SIGNATURE	//////	1,1	7 TELEPHONE	1-472-5500 DATE	2-12-08
TITLE	/ A IFE	EIN	7		
17-ess	per'T	55-03	3- 13249	j i	S TO BE NOTED ABOVE
WHI	EN RESPONDING .	TO RFQ, INSI	RT NAME AND ADDRESS	IN SPACE ABOVE LABEL	.ED 'VENDOR'



Request for Quotation

CEREAL08

PAGE 10

JO ANN ADKINS
304-558-8802

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

RFQ COPY	
TYPE NAME/ADDRESS	HERE
ALE; WENDLING, INC	N
P.O. Box 661	. ¥
Backharron	wu
	26201

DATE PRINTED TERMS OF SALE SHIP VIA

DATE PRINT	/2008	SHIP VIA	FOB	FREIGHTTERMS
BID OPENING DATE:	02/13/2008	BID	OPENING TIME 01	L:30PM
LINE	QUANTITY UOP CAT	ITEM:NUMBER	UNITPRICE	AMOUNT
	THE BID SHOULD CONTAI THE ENVELOPE OR THE E			
	SEALED BID			
	BUYER:	FILE	42	·
	RFQ. NO.:		AL08801A	-
	BID OPENING DATE:	02/1	3/08	-
	BID OPENING TIME:	1:30	PM	
	PLEASE PROVIDE A FAX TO CONTACT YOU REGARD 304-472	ING YOUR BID:	r is necessary	
	Chr. s L			•
·	***** THIS IS THE E	ND OF RFQ CEREA	\L08 ***** TOTAL:	
·.				
SIGNATURE	SEE RE	J WERSE SIDE FOR TERMS AND CON TELEPHONE		. S-
TIPLE PARK	FEIN 55-038	7	ADDRESS CHANGES	-/2 - 0 8 TO BE NOTED ABOVE
	EN RESPONDING TO RFQ, INSEF		•	

	CEREAL08 Pricing Pages						
Item#	Description	Packaged	Manufacturer	Vendor's stock Number	Price Per Carton	Estimated Usage (Cases)	Total
	lills - Large Size Cereal						
1	French Toast Crunch	4/32 oz.	Malt-O-Meal	15241			506.25
2	Cinnamon Toast Crunch	4/32 oz.	Malt-O-Meal	15246		25	506.25
3	Cheerios	4/32 oz.	Malt-O-Meal	15247			620
4	Cocoa Puffs	4/40 oz.	Malt-O-Meal	15248			562.5
5	Count Dracula	4/40 oz.	Malt-O-Meal	15249		50	962.5
6	Country Corn Flakes	4/32 oz.	Malt-O-Meal	15252			650
7	Frosted Cheerios	4/00			No Bid	25	
<u>8</u> 9	Golden Grahams	4/32 oz.	Malt-O-Meal	15253		25	512.5
10	Frosted Wheaties	4/40 oz.	Malt-O-Meal	15255			450
11	Honey Nut Cheerios Kix	4/40 oz.	Malt-O-Meal	15257		25	550
12		4/25 oz.	General Mills	11360		25	668.75
	Lucky Charms	4/40 oz.	Malt-O-Meal	15259		25	550
13 14		4/50 oz.	Malt-O-Meal	15262		25	781.25
15	Low Fat Granola Rice Crunchies	4/50 oz.	Malt-O-Meal	15264		25	781.25
16	Total	4/32 oz.	Malt-O-Meal	15265		25	375
		4/40 oz.	Malt-O-Meal	15267		50	875
17 18	Total Raisin Bran Trix	4/40 oz. 4/32 oz.	Malt-O-Meal	15269		50	875
19	Wheaties	4/40 oz.	Malt-O-Meal	15271	15.25	25	381.25
20	Rice Chex		Malt-O-Meal	15272		35	612.5
21	Corn Chex	4/33 oz.	General Mills	15275		25	750
22	Wheat Chex	4/33 oz.	General Mills	15278		25	750
23	Cookie Crisp	1/2E 07	Canada Milla	45000	No Bid	25	
	lills - Individual Size	4/35 oz.	General Mills	15282	39	25	975
24	Apple Cinnamon Cheerios	96 ct. Bowl	NA=14 O NA==1	15001	4	400	
25	Cheerios	70 ct.	Malt-O-Meal	15284	17.5	100	1750
26	Country Corn Flakes	70 ct.	General Mills	15287	21.25	200	4250
27	Golden Grahams	70 ct.	General Mills General Mills	15288 15289	20.67	200	4134
28	Honey Nut Cheerios	70 ct.	General Mills	15299	21.5	50	1075
29	Lucky Charms	70 ct.	General Mills	15291	21.25	50	1062.5
30	Total	70 ct.	General Mills	15293	20.5 21.25	50 100	1025
31	Total Raisin Bran	70 ct.	General Mills	15294	20.5	100	2125
32	Wheaties	70 ct.	General Mills	15295	21.25	100	2050 2125
33	Single Pak Favorites	70 ct.	General Mills	15290	24.5	250	
34	Family Assorted Single Pak	70 ct.	General Mills	15297	24.5	250	6125
35	Rice Chex	70 ct.	General Mills	15298	21.5	250	6125
36	Corn Chex	70 00.	Ochera Milio		No Bid	25	537.5
37	Wheat Chex	,			No Bid	25	
38	Frosted Wheaties	96 ct. Bowl	Malt-O-Meal	15303	17.5	25	437.5
	ills - Self Service Bowls		7.1011 0 171001	10000	17.5	20	437.5
39	Apple Cinnamon Cheerios	96 ct.	Malt-O-Meal	15304	17.5	100	1750
40	Berry Berry Kix	96 ct.	Malt-O-Meal	15305	17.5	25	437.5
41	Cheerios	96 ct.	Malt-O-Meal	15307	17.5	75	1312.5
42	Cinnamon Toast Crunch	96 ct.	Malt-O-Meal	15308	17.5	25	437.5
43		96 ct.	Malt-O-Meal	15309	17.5	25	437.5
44		96 ct.	Malt-O-Meal	15310	17.5	100	437.5 1750
45		96 ct.	Malt-O-Meal	15314	17.5	25	437.5
46		96 ct.	General Mills	15317	21.85	25	546.25
47		96 ct.	Malt-O-Meal	15322	17.5	25	437.5
48		4/32 oz.	Malt-O-Meal	15253	20.5	25	512.5
49	Honey Nut Cheerios	4/40 oz.	Malt-O-Meal	15257	20.5	25	550
	Kix	4/25 oz.	General Mills	11360	26.75	25	668.75
51	Lucky Charms	4/40 oz.	Malt-O-Meal	15259	20.73	25	550
~	Multi-Grain Cheerios Plus		1 7		No Bid	50	350
53		4/33 oz.	Malt-O-Meal	15275	30	25	750
54		4/32 oz.	Malt-O-Meal	15265	15	25	375
55		4/32 oz.	Malt-O-Meal	15247	15.5	25	387.5

						Estimated	
Item#	Description	Packaged	Manufacturer	Vendor's stock Number	Price Per Carton	Usage	Total
General N	Mills - Large Size Cereal	1 dokagea	Manaracturer	Number	Carton	(Cases)	Total
56	Total	4/40 oz.	Malt-O-Meal	15267	17.5	100	175
57	Trix	4/32 oz.	Malt-O-Meal	15271		25	381.2
58	Wheaties	4/40 oz.	Malt-O-Meal	15272		100	175
59	Wheaties Raisin Bran	4/40 oz.	Malt-O-Meal	15269		50	87
	- Large Size Cereals		Mar o moar	10208	17.5	30	073
60	Corn Flakes	4/32 oz.	Malt-O-Meal	15252	13	50	650
61	Rice Krispies	4/32 oz.	Malt-O-Meal	15265		50	750
62	Complete Wheat Bran Flakes	4/40 oz.	Malt-O-Meal	15272		25	437.
63	Raisin Bran	4/40 oz.	Malt-O-Meal	15269		50	
64	Corn Pops	4/32 oz.	Malt-O-Meal	15283		25	87
65	Cocoa Krispies	4/40 oz.	Malt-O-Meal	15249			368.7
66	Smacks	4/40 oz.	Malt-O-Meal			25	481.2
67	Frosted Flakes	4/40 oz.	Malt-O-Meal	15250		25	443.7
68	Special K	4/32 oz.		15253		25	450
69	Fruit Loops	4/32 oz.	Kellogg's	15254		50	1619.
70	Cruncheroos	4/32 oz.	Malt-O-Meal	15271		25	381.2
71	Apple Jacks		Malt-O-Meal	15247		25	387.
72		4/32 oz.	Malt-O-Meal	15256		25	42
73	Crispix	4/30 oz.	Kellogg's	15258		25	749.75
	Cracklin Oat Bran	4/40 oz.	Malt-O-Meal	15272		25	437.8
74	Frosted Mini Wheats Bite Size	4/40 oz.	Malt-O-Meal	15260		35	668
75	Low Fat Granola	4/50 oz.	Malt-O-Meal	15261	31.25	25	781.25
76	Honey Crunch Corn Flakes				No Bid	25	
77	Marshmallow Blasted Fruit Loops	4/40 oz.	Malt-O-Meal	15259	21.75	25	543.78
78	Raisin Bran Crunch	4/40 oz.	Malt-O-Meal	15269	17.5	25	437.5
	Individual Size						
79	Corn Flakes	70 ct.	Kellogg's	545	24.5	100	2450
80	Rice Krispies	70 ct.	Kellogg's	575	24.5	100	2450
81	Complete Wheat Bran Flakes	70 ct.	Kellogg's	15263	27	50	1350
82	Raisin Bran Crunch	70 ct.	Kellogg's	546	26.25	50	1312.5
83	Corn Pops	70 ct.	Kellogg's	15266		25	656.25
84	Cocoa Krispies	70 ct.	Kellogg's	15268		25	656.25
85	Smacks	70 ct.	Kellogg's	597	26.25	25	656.25
86	All Bran	70 ct.	Kellogg's	15270	27	35	945
87	Frosted Flakes	70 ct.	Kellogg's	15273	27.25	25	681.25
88	Special K	70 ct.	Kellogg's	599		50	1350
89	Fruit Loops	70 ct.	Kellogg's	15277	26.35	25	658.75
90	Product 19	70 ct.	Kellogg's	15279	27	50	1350
91	Puffed Wheat				No Bid	25	1000
92	Puffed Rice				No Bid	25	
93	Cruncheros	70 ct.	Kellogg's	15281	27.1	25	677 5
94	Shredded Wheat Minatures	70 ct.	Kellogg's	605		25	677.5 718.75
95	Apple Jacks	70 ct.	Kellogg's	15286		25	
96	Crispix	1.00.	, chogg s	10200	No Bid		656.25
97	Frosted Mini Wheats Bite Size	4/40 oz.	Malt-O-Meal	15260		25	1
98	Assorted	11-10 OZ.	Wait-O-Medi	10200	No Bid	25	475
99	Low Fat Granola with Raisins	4/50 oz.	Kellogg's	45000		100	
	Honey Crunch Corn Flakes	4/30 02.	Reliogg S	15306	40.18	25	1004.5
	Cereal Bar				No Bid	25	
	Apple Cinnamon Nutri-Grain	400/4.0					****
		100/1.3 oz.	Stauffer's	11973	25.25	25	631.25
	Blueberry Nutri-Grain	100/1.3 oz.	Stauffer's	11975	25.25	25	631.25
	Raspberry Nutri-Grain	48/1.3 oz.	Stauffer's	813	16.3	25	407.5
	Strawberry Nutri-Grain	100/1.3 oz.	Stauffer's	11974	25.25	25	631.25
	Cherry Nutri-Grain				No Bid	25	
	Self Serve Bowls						
	Corn Flakes	96 ct.	Malt-O-Meal	15310	17.5	100	1750
	Rice Krispies	96 ct.	Malt-O-Meal	15326	17.5	100	1750
	Complete Wheat Bran Flakes	96 ct.	Malt-O-Meal	15327	17.5	50	875
	Raisin Bran Crunch	96 ct.	Malt-O-Meal		17.5	35	612.25
110	Corn Pops	96 ct.	Kellogg's	15315	26.75	25	668.75

Vendor			

				Vendor's stock	Price Per	Estimated	
Item#	Description	Packaged	Manufacturer	Number	1	Usage	
	lills - Large Size Cereal	rackageu	Manuacturer	Number	Carton	(Cases)	Total
111 Cocoa Krispies		96 ct.	Kellogg's	635	26.75	05	000 75
112	Smacks	96 ct.	Kellogg's			25	668.75
113	Frosted Flakes	96 ct.	Malt-O-Meal	640	26.75	25	668.75
114	Special K	96 ct.	Kellogg's	15322	17.5	25	437.5
115	Fruit Loops	96 ct.	Malt-O-Meal	639		50	1337.5
116	Product 19	96 ct.	Malt-O-Meal	15328		25	437.5
117	Cruncheros	96 ct.	Malt-O-Meal	15319		100	2675
118	Apple Jacks	96 ct.		15307	17.5	25	437.5
119	Crispix	96 ct.	Malt-O-Meal	15304	17.5	25	437.5
120	Frosted Mini Wheats Bite Size	96 ct.	Kellogg's	15325		25	668.75
121	Honey Crunch Corn Flakes	90 Ct.	Kellogg's	626		25	668.75
MISC	Tioney Cruncii Com Flakes				No Bid	25	
122	Hospitality Bran Flakes	4/35 oz.	11	4=040			
123	Hilltop Cream of Wheat (Farina)	12/28 oz.	Hospitality	15313	14.25	25	481.25
120	Timop Cream of Wheat (Famila)	12/20 02.	Hospitality	797	17.9	25	447.5
	Minimum Shipment for free delive						
	Minimum Shipment accepted (Ag			***************************************			
0							
Contract	t Contact Information:						
	Contact: Chris Wendling						
	Telephone: 304-472-5500		•			·	
	Toll Free: 800-352-3879						
	Fax: 304-472-5504						
	Email: cwendling@afwendling.com					**************************************	
	Date: 2-12-08_						
-							
	Authorized						
	Signature:		Da	ate:			
L							



Request for

CEREAL08

*ADDRESS CORRESPONDENCE TO ATTENTION OF JO ANN ADKINS 304-558-8802

RFQ COPY TYPE NAME/ADDRESS HERE

NATE DOINTER TEDME GEARE

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER

01/23	/2008		•		31.				- D		FHEIGH	TERMS
BID OPENING DATE:		02/13	/2008			BI	D C	PENING	TIME	0.	1:30PM	
LINE	QUAN	ПТҮ	UOP	CAT NO	ITEM:	NUMBER		UNIT	FPRICE:		All	OUNT
			REQ	JEST :	FOR QUOT	ATION		, .				
;		/IRGIN	IA ST		TRACT TENCIES				TO			
	SOBDIA	, TPTOM						•				
•	3.											
				:						•		
						•						
0001		1	EA		393-36							
	VARIOU	S CER	SALS :	OR A	LL STATE	AGENCII	ES -					
	REQUES	TED I	IFORM	MOITA	HEIR PRI ON THE HEETS.	ATTACHEI			ON_			
	RETURN REQUIR	THE C	COMPLE PER C	TED I		AS WELI E EVENT	A OF	S THE ANY	JESTED	TO		
					THE PAP							
					IDED TO						•	
									,			
				SEE REV	ÇRBE SIDE FOR							
SIGNATURE	M/	4C		$\leq_{\mathcal{I}}$		TELEPHONE 304-	- 4	72-55			-12-0	
Prekid	<u>~ 7</u>	1		1 6	5-038	- 3249	}	1			O BE NOTED	
WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'												

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid,
- 3. All quotations are governed by the West Virginia Code and the Legislative Rules of the Purchasing Division.
- 4. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125.00 registration fee.
- 5. All services performed or goods delivered under State Purchase Orders/Contracts are to be continued for the term of the Purchase Order/Contract, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods, this Purchase Order/Contract becomes void and of no effect after June 30.
- Payment may only be made after the delivery and acceptance of goods or services.
- 7. Interest may be paid for late payment in accordance with the West Virginia Code.
- 8. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 9. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 10. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller,
- 11. The laws of the State of West Virginia and the *Legislative Rules* of the Purchasing Division shall govern all rights and duties under the Contract, including without limitation the validity of this Purchase Order/Contract.
- 12. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 13. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, this Contract may be deemed null and void, and terminated without further order.
- 14. HIPAA Business Associate Addendum The West Viginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, and available online at the Purchasing Division's web site (http://www.state.wv.us/admin/purchase/vrc/hipaa.htm) is hereby made part of the agreement. Provided that, the Agency meets the definition of a Covered Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division.
- 2. SPECIFICATIONS: Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as EQUAL to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Complete all sections of the quotation form.
- 4. Unit prices shall prevail in cases of discrepancy.
- 5. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 6. BID SUBMISSION: All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications.

SIGNED BID TO:

Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130



......RFQ:NUMBER..... CEREAL08

JO ANN ADKINS 304-558-8802

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER

RFQ COPY TYPE NAME/ADDRESS HERE MF: WENDLING, INC. P.O. Box 661 Buckharror WV 26201

DATE PRINT		MS OF SALE	SHIP VIA	FOB:	FREIGHTTERMS	
BID OPENING DATE:		/2008 .	BID	OPENING TIME ()1:30PM	
LINE	QUANTITY	UOP CAT	ITEM:NUMBER	UNIT PRICE	AMOUNE	
	FEDERAL SPE	CIFICATION	s.			
	CONTRACT MU	ST HAVE A	LL ITEMS FURNISH MINIMUM SHELF LI THE SHIPMENT IS	FE OF SIX (6)		
	WITHIN 15 C DELIVERY TI THE ORDERIN	ALENDAR DA MES SHALL G AGENCY A	LL COMPLETE DELL'YS FROM RECEIPT (BE COORDINATED WORD MUST ACCOMMODINAS REQUIRED BY E.	OF ORDER. ITH ATE		
	\$300.00 SHA WHEN SHIPPE THAT TOTAL	LL BE DELI D TO A SIN LESS THAN TH TRANSPO	S: ORDERS IN EXCLVERED FOB: DES'GLE FACILITY LOC S300.00 SHALL BE RTATION CHARGES RATE ITEM.	TINATION. ATION. ORDERS SHIPPED		
	THAN THE \$3	00.00, IF	CAL VENDOR FOR OUSHIPPING IS INCLUSE RESULTS IN A	VDED IN THE		
			DELIVER A MINIMU NTRACT, WITH AGE			
	AND DEEMED	UNSUITABLE	ELIVERED UNDER T FOR THE AGENCY D AT NO COST TO TH	NUST BE		
	EXHIBIT 3					
	LIFE OF CON			OMES EFFECTIVE O	71	
SIGNATURE J	A AL	SEERE	VERSE SIDE FOR TERMS AND CO TELEPHONE 304-		2-12-08	
FEIN 55- 1038 - 3249 ADDRESS CHANGES TO BE NOTED ABOVE						
WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'						